


e remaining: 17:37

Nhich of the following statements Is correct? A silencer ..

AL

mall hole 1S acceptable.

i




you will have to pay.

A. how much toll




: remaining: 18:13

e following control is used to select the appropriate gear of the vehicie:

;,'-* 3

f

i : HONSs Ernd Tes!
4 Previous _ ?;.'lr.-.-. Cuestions  Test




rer;lammg' 1847

ou only have a learner's licence for a heavy motor vehicle, ...

hen there must be someone with you in the vehicle with the same driving
BENCe,

‘you are not allowed to drive on a freeway.

) no passengers are allowed with you in the vehicle.

=LECT THE CORRECT COMBINATION

A. All the above are comect



remaining: 18:2%

en is overtaking prohibited?

\. When approaching any place where passing could ca
ipproaching from the opposite direction.

B. When passing a school,
C. When driving at night.






eavy motor vehicle must be equipped with an efficient exhaust silencer, which

gasitdoesmtmakeanoise.
bration in the cab
\eak into the

\. does not have 10 be maintained, as lon

B. mu ot cause avi
C. must be s0 maintained that the exigs= NM&H
driving cab of passengers Mﬂow

st be sO maintained that it does 0




at should a driver consider when following another vehicle?

=

a and ha ak % i e
. The driver mm ﬂ'ﬂ , yﬁF{FﬁlriFifM’:'#‘hfm‘
ahtymmmmﬁmlinnﬁr

caeibudedbing et h'hm-‘-ﬂm guchanc
lmp

B. The driver should be able 1o see the rﬂft‘rruulﬂ'mﬁl'ﬂdﬁhhml
C. The drver should follow another vehicle keaping three car lanathe belind




: remaining: 18 19

ich one of the following statements is correct™?

. Pedal cycles are not permitted on a freeway

. Racing cycles may be ndden on a freeway dunng the day only

. Pedal cycles may only be ndden on the shoulder ol the ireeway

" : 0 e .
I 4 Previous j Review Guesmng} End Test h H .




remaining: 19:06

which side of the roadway may you drive if the roadway is wide enough withol
langering other traffic?

. A driver shall drive on the left side of the roadway

. A driver may encroach or drve on the right-hand of a roadway if the car in
ont is driving slowly.

. A driver may drive on the nght-hand side provided thera s no traffic

e i

l 4 Previous | Review Questons|  End Test h'-l_ _ Neat >
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4 Previous | Review &ueaugpff _ End Test hl-- E‘




remaining. 19°19

> use of a temporary sign implies that for some reason ...

. Circumstances on the roadway are nol normal.
. traffic has to move slowly

. the rules of the road do not apply

4 Previou | Review Ques ' End T \
. evious  }  Review Questions cnd Test _ MNext

i

e — e







remaining: 1851

en the driver sees this sign, heishe must ...

. turn left at the next road if he/she drives a delivery
hicle.

. wm left of he/she drives a goods vehicle.

. turn left at the stop sign.

8 .
4 Previous | Rewview Questions |




g remaining: 17:52

at type of heavy motor vehicle or combinations of motor vehicles are res!
travel at a maximum speed of 80 km/h?

\. An articulated motor vehicle of which the gross combination mass of ruck-
actor exceeds 8 000 kg.

: l‘l:lr-1||!.- vehicles carrying goods which belong to the government and traffic
MICEe




remaining: ‘19.2

driver of a vehicle shall not cross a public road unless.__.

he/she looks and signals his/her intentions and then moves onto the
adway

. the road is clear of maving traffic for a sufficient distance 1o allow him | her

» cross the road without obstructing or endangering any traffic.

. hel/she locks into the rear view mirror, engages gears and accelerales, so
hat he/she can enter the road.

4 Previous | Review Questions | EndTest | Wew

- —— o — — e




ne remaining. 1742

Vhat is the duty of a driver when re-filling the fuel tank with petrol or inflamn
uel?

TN

A. The driver may not cause or allow the engine 1o run whilst petrol or other

inflammable fuel is being transfamred to the fuel tank.

B. He/she may only allow the engine o run if diesel is being transfermed to the
fuel tank.

C. Hel/she may start the engine whilst petrol or other inflammable fuel is bemng
iransferred to check if the fuel tank is full

4 Previous | Revew Questions |

_ EndTest |




e remaining: 17:30

hat is the function of a clutch?

A. Itis used to disconnect the engine from the transmission

B. It is used to reduce the speed of a vehicle

. It i1s used to freewhee! down a hill

4

b Previous || Review Guestons ] EnaTen




 remaining: 17:57

is sign shows to riders of motor cycles that ..

. they have preference in that part of the road
3. they must use that part of the road.
_there is parking for motor cycles there.

4 Previous *'_:-1.+_--:<.E'-.‘.' ';.Jli_'l'.:E'll{: ns i

e —
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remaining: 19:12

en approaching this sign, the driver knows that ...

. a lane is added 1o the left of a two-way roadway.

. the people driving on the left side of the road
ust turn left
. vehicles may be overtaken on the left side from
here on.

4 Previous 'j Review Questions | End Test i , |
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. has the same legal significance as a permanent sign

B. need not be taken senously at all imes of the day.

C. is of less consequence 1o road users than a permanent sign

T T

l _ 4 Previous | Review Questions | End Test _LM




e remaining: 18:58

IS signal indicates that ...

A. this lane is for fast moving trafffic only

B. you may drive there.
C. this lane is for slow moving traffic only

-

‘ 4 Frevious . Review DhEE‘IH}l‘I-_E__ _ End Test J EE




'his type of sign is Known as ...

RET]

A. a regulatory sign.
.



remaining: 19:09

s sign shows the driver of the vehicle that ...

at the next intersection the driver must turn nght

. the road turns 1o the right only

. there is an altermnative route at the next
ntersection to the right.

i < E‘_IE‘I-I'IEPUE J __FE_-E_'-"IEW {JuEE,IEEnE!:’, E_!‘id Test } . ﬁﬁﬂ. L




emaining: 18:44

en moving off from a stationary position at the side of the road, what is the
ponsibility of the driver?

f'|| -‘F-.--._"r'-' .-ﬂ'..fj 'I.J-_ ._I--‘-I 1 -F" 3

'I' '.l i s '-|.Ii;_|1|"|l l-..|=i|,_-r-'ia 5 I"t-.-"H' ""';'-1.-.-‘.-’.1'

mm:' MM \u-_ﬁ-m.::.;ﬂ.;.t:--._';'—-__._.-_:..'__'-- = -
3. The driver must join other traffic as quickly as possible
C The drver muet indicate hieheaer indentiaon and then moes off



y -'i.' D 54

remaining: 17:24

\is sign indicates to the driver that there ...

i

nmmhhm1mmm

B. are obstructions in the road for 1 km.

B

-

C. are road works within 1 km.




he following control is used to change the direction of the vehicle:



y remamning: 1220

following distance 1o

en driving a motor vehicle, what is the minimum safe
rintain when following another vehicle?

\. A distance determined by means of the two second rule
3. A driver may drive as close as possible so thal overiaking will be easier
. Five metres at 100 km/h

4 Previous ] Review Queslions | End Test J Feext

el B

o



SEDY

: remamig: 17:00

e appropriate reaction to this sign is to ...

. stop, as the road is closed ( ( ( ) ) ]

4 Previous | Review Questions| End Test |
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sestion 61 of 64

e remaining: 16:57

Irailers utwhlchuugrmmmmmmamﬂmm_




e remaining: 17.09

JU may not ...
run the engine of your vehicle unattended.
) use your vehicle without a cap on the fuel tank.

I} spin the wheels of your vehicle when pulling off.
ELECT THE CORRECT COMBINATION

A. Only (1) and (i) are not allowed
B. Only (i) is not allowed
. None of the above are allowed

- - Prewcrya _“J _F?-_e:ﬂ‘ﬂ_u?__[_::uaﬁtaggﬂ = Eqdjeal J.:jli EE.“




at type oimwmobrvmﬂuMdeﬂm
ravel at a maximum speed of 80 km/h?




g remaming: 17:04

hen the robot is red and the red arrow flashes to the left as indicated in the
cture, it shows you that ...

1]

B. you MMWHEE“MW
115 safe to do so even if the red light ison.

C. you must slow down and then tum left without
yielding to other traffic.




: remaining: 19:16

ich statement is correct?

. A heavy motor vehicle may not be used on a public road if it is fitted Wi &

pot lamp which can emit a beam of light that can be deflected in any
lirection.

. A heavy motor vehicle may be fitted with a spot lamp 1o wam others of road
WOTKS

C. A heavy motor vehicle may be fitted with a spot lamp to add an extra beasmn
when it i1s raining

4 Previous | Review Questions End T
I-_!_! _-J " — e | - nd E:St _l h—'_ﬂ




yrder to draw attention, the background of temporary signs is usually .

L white,

3. yellow. =

G. red.




B remaining: 17:55

s road marking warns you that ...

A. you will have to change lanes ahead

3. a railway line will be crossing the road at the re
same level,

- You may nol enter this parking area

4 Previous Review Questions | End Tast
—— ﬂ_J R i S e e R J'.E. |




e remaining: 1/:21

hat will this road marking indicate to the driver?

A. No overtaking is permilted.

|

B. Lanes are reducing fromtheright.

C. The vehicle in the right hand lane has right of
way,




ne remaining: 10.29

hen seeing this sign the driver knows that he/she must ..

A. proceed on the left side of the road

B. keep in the left lane only.

C. pass o the left of the obslacie on which the sign
has been placed

-4 FPre P ) e \
“T__‘,-—_iEEi )} Review l:._]ur_.mn::fus, .E_h‘-d TE__E_!




e remaining: 17 48

Is sign indicates to the driver of a vehicle that ...

A. the maximum speed imit in the right-hand lane is

. the minimum speed limit in the right-hand lane is
armanently 80 km per hour

- the minimum speed limil in the right-hand lane is
emporanly 80 km per hour

4 Previous i - '
e S ouS L Neview Queshions End Test
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mng: 1416

hat is the requirement regarding noise caused by a heavy molor vehicle?

47

A. A person may operale a vehicle causing excessive naise but only at mght

B. No person shall operate a vehicle on a
causes axcessm noise.

C. A person may operale a ve hicle causing excessive NoIse outside town

e — et ———— e

. o
i 4 Previous | Review Quaeshans | End Test _







e remaining: 18:59

2ed not kept lighted when the vehicle is parked ...
10 m from a lighted street lamp.
) next to the roadway of the road.

I) in a demarcated parking area.

ELECT THE CORRECT COMBINATION

A. Only (i) and (i) are correct

B. Only (ii) and (iii) are comect

| __4 Previous | _F:\'._E"{IE_M'E__':}UEST.IEI!'!E_:’ End Test | ! e A

B L L [




“no stopping™ area?

an is it permissible to park ima "™

.. Parking is permissible, ROWeVEL, only stopping IS not permissible

4 Pr | ' |
Previous ) Review Questions | End Test k_




LECT THE CORRECT E«UHEIHA.TIDH

Al of the above are correct
5 None of the above are correct 1 e

End Test _} _

- Prgw.ru:ua J Heview quahnnﬁ.}

7 g T




A. the taking of photographs 1s not permitted

B. there is a photographic studio.

C. there is a camera monitonng the intersection at

the traffic light.

I‘ (!
L 4 Previous } Review Questions | End Test
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me remaming 2317

This sign shows you that ...

. You have 1o tum off to a weigh bridge.
B. there is a roadway shop 1o your left.

4 Pri - End Tusi




[ime remaining 21 59 —

When may you stop in front of this sign?

A. Only when you want 1o look at the scenery

B. Only when picking up passengers, ﬁ

AT e T




A. you may use thes lane ¥ you warnt &
e ple

C. any vehicle dropping of pachkang up passengers
may use this lane



[C) Like D Comment






[lb Like D Comment






[ime remaining 2210

-

When approaching this sign, the driver must ...

. know that he is warmned of a stop ahead.

B. stop behind the stop line and give right of way 1o
vehicles from the right.

C. yield and carry on when safe to do so.

4 Previou Review '[*J“i" LIions

End Test




e remaining: 17:35

his sign indicates ...

A. that all traffic must tum right

B. the presence of a bridge




rime remaining: 22:21

Which statement is correct?

—_

A. A heavy motor vehicle may be fitted with a spot lamp [0 add an extra beam
hen it IS raning.

a spot lamp to warn others of road

- " i..'l \J . Vi ’ ' Lid | b -
. jestion End Test ! _" i
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A. you M‘thuhwﬂﬂ""".“u

i









[]’b Like D Comment



ﬂ’_") Like D Comment






ou mui.lbti"“""""“""""“""""w'r'I

n)_]) Like C) Comment






of the vehicie



















ﬂb Like D Comment









[[b Like D Comment






ime remaining 2235

What is the purpose of an accelerator?

A. LIS used to tumn a vehicle in an emergency
B. It is used 1o slop a vehicle.

A s used ol avehicle inanemergency.
B.itisusedosiopavehice. ]




T ™ 4
ime remaining: 22:31

Which is the correct answer considering this sign?

A. When the red man is glowing it means that
pedestrians have prionty.

B. When the green man is glowing it means that
pedestrians should run across the street as fast as

they can.

4 Frevious Review Queslions End Test






remaining: 18:51 !

en the driver sees this sign, he/she must ...

turn left at the next road if he/she drives a delivery
ahicle.

. turn left if he/she drives a goods vehicle.

. turn left at the stop sign

<4 Previous | Review Questions)

e



/hat type of heavy motor vehicle of
gmv-luammmﬂ“””'

"""""

[b Like D Comment



[[b Like (:_) Comment






) Like () comment






nb Like D Comment






[b Like D Comment


















have
_ does nol

1 be 80 m,mwned ‘hll
!_ Ml

T
mmunw

driving cab o

Iﬁ Like C) Comment



ﬂb Like C_) Comment









l]b Like C) Comment



I]b Like D Comment









[C') Like D Comment



[]b Like C) Comment



A, a marked pedestrian rosSi9 8

on the lookout for cyel

B. you must be
C. level crossing ahead.




< Rules of the Road Test (Ran...

Question: 10 of 30

(How long is the grace period, after )
a vehicle's licence disc has expired,
that it may still be operated on a
public road?

.

Options

' ( N N
\.

J

T month.
\_

I N\

>
There is no such thing as a grace
period.

J/

Finish Test




Question: 30 of 30

When the holder of a licence has
changed their place of residence
permanently, he or she must notify
the registering authority in whose
area they are ordinarily resident

of the new residential and postal

address within ..... _J




Question: 28 of 30

TR

[\ihere must the licence disc of a

motor vehicle be displayed?
- LA . —

Options

o
It does not have to be displayed

and can be kept in the glove box At
the vehicle.

on the ins ide of the windscreen.
;

Afﬁxed to the upper Ieft hand
corner on the inside of the
windscreen.

|Afﬁxed to the lower left-hand corner




< Rules of the Road Test (Rando...

Question: 20 of 30

rWhen herding animals across a publicN
road, a red warning flag during the day
and a red warning light at night must
be displayed ..... ahead of and behind
the herd.

Options

N NN

4 B (e, 1 (A,
(@») Ul
=




